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1 fif] 288, 230 13, 024, 704 45 N 3 460 35, 475 77
[ = 9, 340 382, 239 41 i [m} 1, 700 53, 185 31
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7t 695, 195 32, 378, 148 47 Hi 231, 373 9, 167, 446 40
¥y ATL— *H—Ff—3 g
Ji 5 38, 730 1, 946, 219 50 379, 056 14, 951, 870 39
= gl 8, 300 596, 420 72
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# 4, 952 360, 673 73 b ¥ @ 90 19, 800 220
X i3 80 5, 280 66
X9 = R 4, 557 316, 021 69
i [iF] 2, 060 114, 169 55 g Ji 1, 030 64, 449 63
= N 10, 900 196, 900 18 = N 7,520 224, 994 30
e (= 270 11, 616 43 f& ] 90 5, 830 65
7 13, 230 322, 685 24 = (= 1, 320 102, 883 78
i 19, 187 1,044, 903 54
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i ] 2,520 139, 920 56 B3 (52 3, 310 130, 658 39
X I3 7, 100 244, 145 34 N I3 380 32, 648 86
=) Pl 6,470 175, 131 27 [it] 1 770 47, 757 62
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i 100 1, 056 11 ) 5 70 8, 888 127
i 70 8, 888 127
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b # 8 650 42,790 66 &t 26,613 5, 845, 087 220
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b3 (52 1,710 233,992 137 B 548 93, 467 171
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Z DA [E 300 18, 150 61 i 80 28,116 351
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i 5 5, 500 1,100 fraxxr)
Jis B 165 19, 360 117
X IFHT b Pl 225 70, 631 314
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Ty AIY ZOM
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&t 167 36, 542 219
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NARTTUT E 27 3,674 136
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i) = 8 13, 200 1, 650 J—Hn_a=7
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= Pl 4,782 3, 174, 554 664 = Pl 597 94, 135 158
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= JII 957 333, 410 348 trRNTE—L R
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53 B 6,070 699, 842 115 i ES 60 11, 168 186
U Vil 562 117, 867 210 b yail 184 47, 282 257
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